flux

A? / 5.066

AP / 4.869

Fe2 + Continuum Fit
oy 1I222 km/s Opep 1256 -Ii-/— 0 km/s Xlzmin / 4584 = 5.066

Al

It AL
1 1 1 I

2 i o —_ X 1 i 77 il \ I 1 L 1 1 L.
2000 2500 3000 3500 4000
Rest A (&)
Fe2 Scale Factor x2 Diagnosis
oy, 1222 km/s 0.0941(20) sz.n / 4584 = 5. 066
T T T T T T T T T T T
rm185 RMS 14.8
I MAD 13.6

o
o — —
?
o
o — —
I
o =

| L | L | L | L | L | L | L

0.04 0.06 0.08 0.1 0.12 0.14 0.16
Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis

o, 100 4999 prior 225 km/s 12.563652(126)E2 sz.n / 4584 5.066
9 T T T T T
o

500

-l |rm185 RMS 114

I (\MW MAD 79.8 |
A iR i :; | m ‘ ! I . i '} ‘i,ul ' H‘ ‘

S (4 ‘@ ] (A 6 i

| b Ay §

5000 6000

Fe2 Dispersion (km/s)



